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Instruction for the Candidate: 
  

 The candidate must write his/her personal information and registration number on the 

answer script. 

 You will write your answer in the space provided. If you need more space, use asterisk 

(*) and Question No. in extra paper from the exam invigilator. 

 For all questions, the process involved in arriving at the solution is more important than 

the answer itself. Valid assumptions / approximations are perfectly acceptable. Please 

write your method clearly, explicitly stating all reasoning. 

 Be sure to calculate the final answer in the appropriate units asked in the question. 

 Non-programmable scientific calculators are allowed. 

 The mark distribution is shown in the [ ] at the right corner for every question. 

 
Table of Constants and Formulas: 

 

▪ Luminosity of Sun, L⊙  ≈ 3.826  1026  W 

▪ Radius of the Sun, R⊙  = 7  ×108  m 

▪ Radius of the Earth, R⊕  ≈ 6.371 ×106  m 

▪ Stefan-Boltzmann Constant , σ = 5.67 x 10 -8 W/m2 

▪ Mass of the Sun, M⊙  = 2×1030  Kg 

 

 

▪ Gravitational Constant, G ≈ 6.674×10-11  Nm2/kg-2 

▪ The area of a Sphere = 4π 𝑅2 

▪ Water Freezes at 100 degree Celsius 

▪ Astronomical Unit, AU = 1.496 × 1011 m 

▪ Distance Earth-Moon = 3.8440 × 108 m 

 

 

 

 

Time: 1 Hour 30 Minutes Total Marks: 25 
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1. Starlight  

 

Welcome to Astronomy. Where we mostly talk about the sky and the stars. So how do we observe 

the stars? Star produces their own light and it reaches us travelling light years. Stars are like cosmic 

bulb. They emit a certain amount of light per second. In this question we’ll try to learn how we 

observe the stars.  

জ্যোতিতবিজ্ঞোনের ্গনি স্বোগিম । জেখোনে আমরো তবনেষ ভোনব আকোে এবং িোরোর আন ো তেনে আন োচেো কতর। জিোমরো তক 
্োে আমরো িোরোগুন োনক কীভোনব পেিনবক্ষে কতর ? িোরোগুন ো তেন্নের আন ো তিতর কনর এবং এই আন ো অনেক আন োকবষি 
অতিক্রম কনর আমোনের কোনে এনে জপৌেোে । িোরোগুত  অনেকটো মহো্োগতিক বোল্ব এর মি । িোরো প্রতি জেনকনে তেতেিষ্ট 
পতরমোণ আন ো তবতকরণ কনর । এই প্রনে আমরো িোরো জক কীভোনব পেিনবক্ষে করো হে িো জেখোর জচষ্টো করব ।  
 

a. Do you know why stars twinkle? Explain the main reason only. [1] 

িুতম তক ্োনেো িোরো গুন ো জকে তিতকতমতক কনর ? মূ  কোরণতট শুধু বযোখযো কর । [১]  
b. The amount of light star produces per second is called Luminosity of a star. Where the 

luminosity of a star has a relation with its radius and effective temperature 

একতট িোরো প্রতি জেনকনে জে আন ো উৎপন্ন কনর িোনক িোরোর ক্ষমিো বো আন োকক্ষমিো (Luminosity) বন  । 
িোরোতটর বযোেোধি (R ) এবং কোেিকোরী িোপমোত্রোর (T ) একতট েম্পকি রনেনে 
 

L ∝ 𝑅2𝑇4
 

 

Suppose you’ve two stars where both have the same Radius and L1 < L2. Which star is 

hotter? [2] 

ধর জিোমোর কোনে ২ তট িোরোর িথ্য আনে জেখোনে িোরো ২ তটর বযোেোধি েমোে এবং L1 < L2 । ক োন তোরোটির 
তোপমোত্রো জবেী ?  [২]  

c. The light emitted by a star always spreads spherically. Can you compute the amount of 

light we get in a unit surface area from a distance 1 km away? (This is actually called Flux 

and denoted by F.) [2] 

একতট িোরো জে আন ো উৎপন্ন কনর িো চোতরতেনক জগো কীে ভোনব েতিনে েোে । িুতম তক জবর করনি পোরনব ১ 
তকন োতমটোর েূনর জথ্নক আমরো একতট িোরো জথ্নক তক পতরমোণ আন োক িীব্রিো (এনক জ্যোতিতবিজ্ঞোনে Flux ব ো 
হে, েো F দ্বোরো তচতিি করো হে) পোব ? [২]  

d. Two stars with the same Luminosity has flux relation F1= 10 F2. If the star S1 is 200 AU 

away, then calculate the time needed to receive the light from each star. Stars light travels 

in speed of 3×108 m/s. [3] 

২ তট িোরোর ক্ষমিো একই তকন্তু িোনের ফ্লোক্স এর েম্পকি F1= 10 F2 । েতে S1 িোরোতট জিোমোর জথ্নক 200 AU 

েূনর অবতিি হন  িোরো েুইতট জথ্নক জিোমোর কোনে আন ো এনে জপৌেোর েমে জবর কর। িোরোর আন ো 3×108 m/s 
জবনগ পতরভ্রমণ কনর। [৩]  
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2. Space Travel 

 
The Sun and another star are 60 light years apart and at rest relative to one another. At time t = 0 

(both on the sun clock and the spaceship clock) a spaceship leaves the Sun at velocity v = ⅘ c 

headed for the star. Just as the ship arrives, a light-signal from the Sun indicates the Sun has 

exploded. (Aliens have placed 3 clocks; one near the Sun, on in the spaceship and one near the 

star)  

েুেি এবং আনরকতট িোরো ৬০ আন োকবষি েূনর অবতিি এবং আপোি অবিোে এনক অপনরর িু েোে তির রনেনে । t = 0 
েমনে (েুেি ঘতি এবং মহোকোেেোে এর ঘতিনি ) একতট মহোকোেেোে েুেি জথ্নক v = ⅘ c জবনগ িোরোতটর উনেনেয েোত্রো শুরু 
কর  । তিক েখে মহোকোেেোেতট জপৌেোন ো , েুেি জথ্নক একতট আন োক তেগেযো  তেনেিে কর  জে েুেি তবনফোতরি হনেনে । 
(এত নেেরো ৩ তট ঘতি জরনখনে িোনের কোনে একতট েুেি এর কোনে, একতট মহোকোেেোনে এবং আনরকতট িোরোতটর কোনে)     

a. When the ship arrives, what does the star clock read? [2] 

েখে মহোকোেেোে তট জপৌেো  িখে িোরোতটর ঘতিনি কি েমে অতিক্রম হনেনে তেনেিে করনব ? [২]  
b. From Relativity we know,  

আনপতক্ষকিো এর েুত্র জথ্নক আমরো ্োতে,  

 

TSun Clock = Trocket Clock √1 − 𝑣2/𝑐2 
 
So how slow the rocket clock runs compare to the sun clock? [2] 
িোহন  মহোকোে েোনে উপতিি ঘতিনি েমে কিগুে ধীনর চ নব েূনেির কোনে থ্োকো ঘতির িু েোে? [২]   

c. When the ship arrives, what does the ship clock read? [2] 

েখে মহোকোেেোে তট জপৌেো  িখে মহোকোেেোনের ঘতিনি কি েমে অতিবোতহি হনেনে জেখোনব ? [২]  
d. When the ship arrives, what does the Sun clock read? [2] 

েখে মহোকোেেোে তট জপৌেো  িখে েুেি এর ঘতিনি কি েমে অতিবোতহি হনেনে জেখোনব ? [২]  
e. When the Sun explodes what do the clocks on the Sun, the star, and the ship read? [2] 

েখে েুেি তবনফোতরি হে িখে েুেি ঘতি, িোরোতটর ঘতি এবং মহোকোেেোে এর ঘতিনি কি েমে অতিবোতহি 
হনেনে তেনেিে করনব ? [২]  
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3. Moon Picture 
 

Books of Class 9-10 have an amazing formula. The Arc length formula! 

The formula states— 

৯ম এবং ১০ম জেণীর বই-এ একতট েুন্দর েুত্র আনে। আকি তেঘিয এর েুত্র!  েূত্রতট এরকম--  

“s = r θ, [when θ is measured in radians, 1 radian = (180/π) °] 
[θ মোপো হে জরতিেোে একক এ, ১ জরতিেোে = (১৮০/π) °]  

Where s is the arc length and r is the radius of the circle. Recall that 

2πr is equal to the circumference of the circle, so one can see the 

above equation as reducing the entire circumference by the ratio of 

the central angle θ to a full rotation of 360°.” 

জেখোনে, s হনে জকৌতেক তেঘিয এবং r  বৃনের বযোেোধি ।আমরো ্োতে, বৃনের পতরতধ 2πr , 
িোহন  উপনরর েুনত্রর েোহোনেয আমরো θ জকোনের ্েয 360° জি কিখোতে পতরতধর অংে হে িো 
জবর করনি পোরব ।   

Sadman is an aspiring Astronomer. He saw a lunar picture in Facebook and now he wants to 

measure the radius of the Moon from the picture. He googled that the distance from the earth to 

moon is 3.8440 × 108 m and the angular diameter of the telescope field of view in this image is 

about 16’ [ ‘ = arc minute; 1’ = (1/60) °] 

েোেমোে জ্যোতিতবিজ্ঞোেী হনি চোে । জে জেেবুনক একতট চোাঁনের েতব জেখ  এখে চোাঁনের েতব জথ্নক চোাঁনের আে  বযোেোধি জবর করনি 
চোে । জে গুগ  জথ্নক ্োেনি পোর  জে পৃতথ্বী জথ্নক চোাঁনের েুরত্ব 3.8440 × 108 m এবং এই েতবনি জটত নকোনপর মনধয তেনে 
আকোনের জে অংেটুকু জেখো েোনে (েোনক জটত নকোনপর field of view বন ) িোর জকৌতণক বযোে ১৬’ [ ’ = আকি তমতেট, ১’ = 
(১/৬০)° ]  
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a) Find the Actual radius of the Moon [You may use a compass or ruler] [3] 

উপনরর েতব জথ্নক চোাঁনের আে  বযোেোধি জবর কর । (িুতম কম্পোে অথ্বো রু োর বযবহোর করনি পোর) [৩]  
 

b) This picture is taken during full Moon. Can you draw a diagram showing the orientation 

of the Earth, Moon and Sun? [2] 

চোাঁনের েতবতট আেন  পুতেিমোর তেনে জিো ো হনেতে  । িুতম তক পুতেিমো এর তেনে চোাঁে, পৃতথ্বী এবং েুেি জকমে 
অবিোনে থ্োনক িোর একতট িোেোগ্রোম এনক জেখোনি পোরনব ? [২]    
 

c) During Annular Eclipse which we recently observed 

from some parts of the world Sadman found another 

picture from Facebook. From your answer from 

previous question and using the values of the radius 

of the Sun and distances Sun-Earth, Moon-Earth can 

you find the percentage of Solar Disk that will cover 

by the moon when the center of the moon aligns with 

the center of the sun. [Hint: You may or may not need 

to use compass again] [4] 

ব েগ্রোে েুেিগ্রহে এর েমে, েো আমরো তকেুতেে আনগই পৃতথ্বীর তকেু প্রোন্ত জথ্নক পেিনবক্ষে কর োম েোেমোে 
জেেবুনক আনরকতট েতব খুাঁন্ জপ  । জবর কর জে েূেিগ্রহনণর েমে েখে চোনের মধযতবনু্দ আর েূনেির মধযতবনু্দ 
এক  োইনে চন  আেনব িখে েুনেির েিকরো কি অংে চোাঁে জেনক জে নব ? এর আনগর প্রে জথ্নক প্রোপ্ত চোাঁনের 
বযোেোধি এবং প্রনের প্রথ্ম পৃষ্ঠোে জেওেো েুনেির বযোেোধি, েুেি জথ্নক পৃতথ্বী এবং পৃতথ্বী জথ্নক চোাঁনের েূরত্ব বযবহোর 
করনি পোনরো আর আনগর প্রে এর মি এখোনেও কম্পোে বো রু োর বযবহোর করনি পোনরো। [৪]  
 

 


